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S2: Fxmax(Xi)=X*X*X=X3
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S1: We recognize that this is a uniform distribution, which can be represented as a box from 0 to 1, dividing this by 4, we get intervals of 0 to .25, .25 to .5, .5 to .75 and .75 to 1

S2: 

3.1M1:
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3.1M2:
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3.1D1

You have no incentive to bid at true value, because even if you win, you will make no money.

3.1D2

You want to maximize your chance of winning without paying more than your true value, since you still make money because the second highest bid is lower than your bid. So, you will still make money. 

3.2M4

We renege when the second bid is 721, because it indicates that the true value of the bid is much lower than $721.
3.2M5

.04665

3.2S1

a) There is a whole lot more chance to lose. There a lot more pathways to losing money.
b) The probabilities have changed.

3.3M1

Our optimal strategy is to buy OilVision. Based on the probabilities of the true value, we will follow different strategies (see decision tree). Our expected payoff is $0.09726 Bn.

3.3M2
You would never renege because you know the true value.

3.3M3

We would be willing to pay $0.0507 Bn. (.09726-.04665)
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